

Olayinka Ayeni
Mechanical Engineering
16/eng 06/17

PI Controller

$$v_x = 0$$

$$I_1 + I_2 = 0 \quad \text{--- (1)}$$

$$I_3 - I_2 = 0 \quad \text{--- (2)}$$

current through the capacitor

$$I_c = C \frac{dv_c}{dt}$$

$$I_1 = \frac{v_0 - v_x}{R_1} \quad (v_x = 0)$$

$$= \frac{v_0}{R_1}$$

$$I_2 = \frac{v_0 - v_x}{R_2} \quad (v_x = 0)$$

$$= \frac{v_0}{R_2}$$

$$I_3 = C \frac{dv_c}{dt} \quad (v_c = 0)$$

$$I_1 + I_2 + I_3 = 0 \quad \text{--- (3)}$$

$$\frac{v_0}{R_1} + \frac{v_0}{R_2} = 0 \quad \text{--- (4)}$$

$$\frac{C_d}{dt} (V_{out} - V_b) - \frac{V_b}{R} = 0 \quad \text{--- (2)}$$

from eq (1)

$$V_b = -\frac{R_2}{R_1} V_c$$

$$V_b = -\frac{R_2}{R_1} V_c$$

taking Laplace transform of eq (2)

$$sC (V_{out}(s) - V_b(s)) - \frac{V_b(s)}{R_2} = 0$$

$$sC V_{out}(s) = sC V_b(s) + \frac{V_b(s)}{R_2}$$

$$sC V_{out}(s) = V_b(s) \left(sC + \frac{1}{R_2} \right)$$

recall, $V_b = -\frac{R_2}{R_1} V_c$

$$sC V_{out}(s) = \frac{R_2}{R_1} V_c(s) \left(sC + \frac{1}{R_2} \right)$$

$$V_{out}(s) = -\frac{R_2}{sCR_1} V_c(s) \left(sC + \frac{1}{R_1} \right)$$

$$V_{out}(s) = -\frac{R_2}{R_1} V_c(s) - \frac{R_2}{sCR_1} V_c(s)$$

from the feedback circuit

$$V_{out_f} = -V_{out}$$

$$\therefore V_{out(s)} = - \left(- \frac{R_2}{R_1} V_e(s) - \frac{R_2}{R_1} \frac{1}{sCR_2} V_e(s) \right)$$

$$V_{out_f}(s) = \frac{R_2}{R_1} V_e(s) + \frac{R_2}{R_1} \frac{1}{sCR_2} V_e(s)$$

from the taking inverse Laplace

$$V_{out_f} = \frac{R_2}{R_1} V_e(s) + \frac{R_2}{R_1} \frac{1}{R_2} \int_0^t v_e(t) dt + V_e(s)$$

(where $\frac{1}{s} = \int_0^t dt + u$)

$$V_{out_f} = G_p v_e + G_I \int_0^t v_e dt + V_e(s)$$

$$\text{where } G_p = \frac{R_2}{R_1}$$

$$G_I = \frac{1}{R_2 C}$$

PO controller

$$I_1 + T_o = T_o \quad \text{--- (1)}$$

$$T_o + T_v = 0 \quad \text{--- (2)}$$

$$I_1 = \frac{v_c \cdot v_a}{R_3}$$

$$T_o = \frac{cd}{dk} (v_c - v_a)$$

$$T_o = \frac{v_a - v_b}{R_1} \quad (v_b = 0)$$

$$= \frac{v_a}{R_1}$$

$$T_{eff} = \frac{v_{out} - v_b}{R_2} \quad (v_b = 0)$$

$$= \frac{v_{out}}{R_2}$$

$$R = \frac{R_1 R_2}{R_1 + R_2} \quad \leftarrow \text{effective resistance}$$

Sub into eq (1) & eq (2)

$$\frac{v_c - v_a}{R_3} + \frac{cd}{dk} (v_c - v_a) = \frac{v_a}{R_1} \quad \text{--- (1)}$$

$$\frac{v_a}{R_1} + \frac{v_{out}}{R_2} = 0 \quad \text{--- (2)}$$

From eqn 2

$$v_a = -\frac{v_{out1}}{R_2}$$

$$v_a = \frac{R_1}{R_2} v_{out1}$$

Re-arranging eqn

$$\frac{v_c - v_a}{R_3} + \frac{cd}{dc} (v_c - v_a) - \frac{v_a}{R_1} = 0$$

taking Laplace transformation

$$\frac{v_c(s) - v_a(s)}{R_3} + sc (v_c(s) - v_a(s)) - \frac{v_a(s)}{R_1} = 0$$

(Central inductance goes to zero)

*

$$v_c(s) + sc (v_c(s)) = \frac{v_a(s)}{R_1} + \frac{v_a(s)}{R_3} + R_3 v_a(s)$$

$$v_c(s) \left(\frac{1}{R_3} + sc \right) + v_a(s) \left(\frac{1}{R_1} + \frac{1}{R_3} + sc \right)$$

$$\text{recall, } v_a = -\frac{R_1}{R_2} v_{out1}$$

$$V_o(s) \left(\frac{1}{R_3} + sC \right) = - \frac{R_1}{R_2} V_{out}(s) \left(\frac{1}{R_1} + \frac{1}{R_3} + sC \right)$$

taking 1 over

$$V_o(s) \left(1 + \frac{R_3 s C}{R_3} \right) = - \frac{R_1}{R_2} V_{out}(s) \left(\frac{R_3 + R_1 + s C R_1 R_3}{R_1 R_3} \right)$$

$$V_o(s) (1 + s C R_3) = - \frac{V_{out}(s)}{R_2} (R_3 + R_1 + s C R_1 R_3)$$

$$- V_{out}(s) = \frac{V_o(s) (1 + s C R_3) R_2}{(R_1 + R_3 + s C R_1 R_3)}$$

$$- V_{out}(s) = \frac{V_o(s) (R_2 + s C R_1 R_2)}{(R_1 + R_3 + s C R_1 R_3)}$$

Grouping numerator & denominator by $R_1 + R_3$

$$- V_{out}(s) = \frac{V_o(s) \frac{R_2 + s C R_1 R_2}{R_1 + R_3}}{\frac{R_1 + R_3}{R_1 + R_3} + \frac{s C R_1 R_2}{R_1 + R_3}}$$

recall, $R = \frac{R_1 R_2}{R_1 + R_2}$

$$- V_{out}(s) = \frac{V_o(s) (R_2 + s C R_1 R_2)}{1 + s C R} \frac{1}{R_1 + R_3}$$

If $sCR \ll 1$

$$-V_{out}(s) = \frac{V_e(s) (R_2 + sCR_2 R_3)}{R_1 + R_3}$$

from the following ~~circuit~~ circuit

$$V_{out} = -V_{out} + V_e$$

$$\therefore -(-V_{out}(s) + V_e(s)) = \frac{V_e(s) (R_2 + sCR_2 R_3)}{R_1 + R_3}$$

$$V_{out}(s) - V_e(s) = \frac{V_e(s) R_2}{R_1 + R_3} + \frac{sCR_2 R_3 V_e(s)}{R_1 + R_3}$$

$$V_{out}(s) = \frac{R_2}{R_1 + R_3} V_e(s) + \frac{R_2 R_3 C s}{R_1 + R_3} V_e(s) +$$

$V_e(s)$

taking inverse Laplace

$$V_{out} = \frac{R_2}{R_1 + R_3} V_e + \frac{R_2 R_3 C}{R_1 + R_3} \left(\frac{dV_e}{dt} + V_e \right)$$

$$V_{out} = G_p V_e + G_p G_D \frac{dV_e}{dt} + V_e$$

where, $G_p = \frac{R_2}{R_1 + R_3}$

$$G_D = R_3 C$$